


Gradient descent on matrix
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dL dL d da dz dL d da dz
— x V1 X Ly 1 x Y2 X 1w 1
dwq dyq daq dzq dwq dy, daq dzq dwq
dL dL d da dz dL d da dz
— x V1 x 292 o 2 x Y2 x 292 o 2
dw, dyq da, dz, dw, dy, da, dz, dw,
dL dL a dL d
— x Y1 + Y2
dW3 dY1 dW3 dyz dW3
dL dL a dL d
— x Y1 + x Y2
dwy dyq dwy dy, dw,
dL dL d dL da
— % Y1 + X Y2
dwsg dyq dwsg dy, dwsg
dL dL d dL a
— X Y1 + Y2

dwg dyq dwg dy, dwg
d.. dL dy, day dzy dL _dy, da; dz
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Gradient descent on matrix

7 3= HOIH (x, y1,y2) = (051, -1)2 3 ¢
HO|E dSt= ¥12|S= numpyZE T+5H0{ et

e for 1 in range(3):
## ---- forward ---- ##

## ---- backward ---- ##
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